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Quiz : Calculating pH, pOH, [H3:0*] and [OH]

When a question requires calculations show all your work.

L 1. What is the pOH of a solution whose [H30%] is 2.75 x 10% M?

A. 3.636 x 10" PH= -log [H30*]
PH= -log[3 15 %10}
B. 3.64 - Test ]
: PH = 3 5¢
"©) 10.44 DS BB et
/ 356+ POt = \4
D. 3.56
Por-=10.44

2. What is the [OH] of a solution whose pH = 5.43 ?

A. 8.57 pH +POH = |4
o 5.43+POH =14
B. 269153 PoH= 3.57
= a=POW
- C. 372x10%M on7J=10

A Cor-J=10"¥:57
/ ©)269x10°M

COH 1= 9.6ax IO'qM

3. The pH of a 0.01-M solution of HCl is:

acid
A 12 PH = -log [H;07]
5 PH= "log [0.01M]
/ PA= 2
C. 12

D. -2




|
| 4. In aqueous solutions, [H*][OH] is equal to:
|

1x10™ M

B. 1x10“M

/-‘

// C. 1x107M

D. TM

( 5. What is the pH of a solution whose pOH is 11.09?

L 1508 pH + POH= 14
/ pH +1.04 =14
- 1] PH= 3.1

C. 25.09
D. -11.09

6. The normal pH of human blood is 7.4. Human blood is:

A. slightly acidic

"I B. strongly acidic
. C. strongly basic

@) slightly basic

7. The pH of a softdrink is determined to be 4.0. What is the [OH] of the

drink?
A 4M DH + POH = |4
/ 40 + POR =14
@ 1.0x10™M PoR =10
C. 10M fon1=\0 P
D. 1.0x104M [on]=107"
- BRE (o= ) %1070 1




8. What is the pOH of a solution whose pH is 3.457

A -3.45 PH rPon =14
3.45+ POH =14
B. 3.45 | oo (555
10.55
© e
D. 7.45

9. Which of the following hydrogen ion concentrations represents a solution
with acidic properties?

A 1x10"°M
B. 1x10™M

C. 1x108M /
®©) 1x102M

10.The [H*] of a solution is 8.34 x 10° molefliter. The pH of this solution lies
between:

PH= —loq[8.34 X105 W]
B. 2and 3 B @ o

C.3and4 /
@4and5
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